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3. jcos (—) t .cos (—) tdt =
L L )
~L 0 if n#+m

Proof :

With n = m, use the formula:

[cos(A + B) + cos(4A — B)]

N =

cos(A) cos(B) =

j%[cos(t—ﬂ+%)t+cos(7z—ﬂ—%)t]dt
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= T (sin(n + m)w + sin(n + m)m)
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+ 2 —m)m (sin(n — m)m +sin(n —m)m) =0

With n = m, use the formula:

cos?(4) = =[1 + cos 24]

N =

To get

L
j cos (nL_n) t .cos (?) tdt
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Put n=m
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— 5 (L — (—L)) + % (sin(2nm) — sin(—2nm))

N =



= l(L + L)+ L (sin(Znn) + sin(2nm))
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4. fSil’l (T)t .Sin (T) tdt =
“L 0 if n#+m

Proof : (H. W.)

For n # m, use the formula:

sin(4) sin(b) = =[cos(4 — B) — cos(4 + B)]

N =

For n = m, use the formula:

sin?(4) sin(b) = %[1 — cos 24]



